\ 7
®
o 7



mari
Typewriter
DM-3200 and DM-3600 spare parts list

mari
Typewriter

mari
Typewriter
20/04/2015

mari
Typewriter

mari
Typewriter
DM32-36-XX

mari
Typewriter

mari
Typewriter


ITEM QTY

AWN = AWN = AWN =

A O =

N = = - N = = - N = = -

N = = -

DESCR

Distance frame
Plough
Fastening frame
Supportive leg

Distance frame
Plough
Fastening frame
Supportive leg

Distance frame
Plough
Fastening frame
Supportive leg

Distance frame
Plough
Fastening frame
Supportive leg

DM32-36-XX

NAME

DM32-21
DM32-1
DM32-2

DM32-11
VM32-5

DM32-22
DM32-1
DM32-2

DM32-12
VM32-5

DM32-23
DM32-1
DM32-2

DM32-13
VM32-5

DM32-24
DM32-1
DM32-2

DM32-14
VM32-5

NAME

DM36-21
DM32-1
DM36-2

DM32-11
VM32-5

DM36-22
DM32-1
DM36-2

DM32-12
VM32-5

DM36-23
DM32-1
DM36-2

DM32-13
VM32-5

DM36-24
DM32-1
DM36-2

DM32-14
VM32-5



DM31-1



mari
Typewriter
DM31-1


ITEM QTY

NI\)[\)]\)[\)_L_L_L_L_L_L_L_L_L_L
EON -0 VO RWN—20OO©ONO®O~WN =

1

i QUGN NGNS SIS SN O SISO U R CRY MRS U (ISP G

DESCR

Pipe d=36x2,5
Round material d=50
Cylinder

Divisor

Locking finger 10,5
Locking finger 10
Grease nipple

Bolt

Pbolt

Bolt

Nut

Nut

Nut

Nut

Washer

Washer

Washer

DM32-1

NAME
DM32.02.00.00
DM32.03.00.00
DM32.04.00.00
DM32.05.00.00
DM32.06.00.00
DM32.08.00.00
DM32.09.00.00
DM32.00.00.03
DM32.00.00.04
HC63-40-210
VAU 38
LST-S
LST
AM 6
M20 X 70
M8 X 50
M8 X 30
M24
M20
M16
M8
A24
A17
A8.4

STANDARD

Lesjofors 8918
DIN 11023
DIN 71412
DIN 933
DIN 931
DIN 933
DIN 985
DIN 934
DIN 985
DIN 985
DIN 6340
DIN 6340
DIN 125





mari
Typewriter
DM32-36-2


ITEM

O©Co~NOOOTPA~,WN =

DESCR

Sheet 10

Sheet 10

Sheet 3

Round red reflector
Round white reflecto
Convex head bolt
Crosshead screw
Crosshead screw
Nut

Nut

Nut

Washer

QTY

MDA ITONON=2ND =

N

DM32-36-2

NAME
DM32-2
DM32.01.00.00
DM32.00.00.01
DM32.00.00.02
DM32.00.00.06
2121.01
2121.02
M16 X 45
M6 X 20
M5 X 20
M16
M6
M5
A6.4

QTY

1
3

— —
bGP PN

AN A

NAME
DM36-2
DM36.01.00.00
DM32.00.00.01

DM32.00.00.06
2121.01
2121.02

M16 X 45

M6 X 20

M5 X 20

M16

M6

M5

A6.4

STANDARD

122-454510
122-454550

ABKATI
ABKATI
SFS 2458
ISO 7045
ISO 7045
DIN 6926
DIN 985
DIN 985
DIN 125



DM32-11

M%MP

’- /6?> o?\ i\ 6?\ [
AR R



mari
Typewriter
DM32-11


ITEM QTY

1

ONO O A~ WN

1
2
2
4
8
10
10
10

DESCR
Frame SMS
Sheet 16
Sheet 15
Sheet 2
Grease nipple
Bolt
Nut
Washer

DM32-11

NAME
DM32.21.01.00
DM32.21.00.01
DM32.21.00.02
DM32.21.00.03
AM 6
M20 X 80
M20
A21

STANDARD

DIN 71412
DIN 931
DIN 985
DIN 125



DM32-12

T

3

ﬁ LR
P - ==
]

T



mari
Typewriter
DM32-12


ITEM QTY

1

O oo NO O WN

DESCR

Sheet 16

Sheet 15

Sheet 2

Grease nipple
Grease nipple Type C
Bolt

Nut

Washer

DM32-12

NAME
DM32.22.01.00
DM32.21.00.01
DM32.21.00.02
DM32.21.00.03
AM 6
CM 6
M20 X 80
M20
A 21

STANDARD

DIN 71412
DIN 71412
DIN 931
DIN 985
DIN 125



DM32-13



mari
Typewriter
DM32-13


ITEM QTY

1

ONO O A~ WN

1
2
2
4
8
10
10
10

DESCR

Sheet 16
Sheet 15
Sheet 2
Grease nipple
Bolt

Nut

Washer

DM32-13

NAME
DM32.23.00.00
DM32.21.00.01
DM32.21.00.02
DM32.21.00.03
AM 6
M20 X 80
M20
A21

STANDARD

DIN 71412
DIN 931
DIN 985
DIN 125



% %MQ @& ce\ \

pavn
Lt

@/

®

DM32-14

o\/ Y/

T I

_ / ”/\\\ \\ \ ‘\ S '
D o " ®



mari
Typewriter
DM32-14

mari
Typewriter


ITEM QTY

POl ©ONOD O A WN =

PO N®OWAMNDN =N = =

DESCR

Sheet 16
Sheet 15
Sheet 2
Finger
Grease nipple
Bolt

Bolt

Washer

Nut

DM32-14

NAME
DM32.24.01.00
DM32.24.02.00
VM32.24.02.00
VM32.24.03.00
DM32.21.00.01
DM32.21.00.02
DM32.21.00.03
LST ¢10
AM 6
M20 X 110
M20 X 80
A21
M20

STANDARD

DIN11023
DIN 71412
DIN 931
DIN 931
DIN 125
DIN 985





